normalized X?

< x2/ndf >

< x2/ ndf >

Ratio

Ratio

<dpp. > (%)

Entries

[ normalized x? probability |

S Doy 0.05
Eres
St bev 0.04
Entries 27313
0.03
0.02
0.0:
g +P
T
o
L R . 0.95
0 2 4 6 8 10 12 14 ~0 0102030405060.70809 1
Prob(x?)
== DQMstep3_TT_CKF
e DQMstep3_TT_default
wmm—= DQMstep3_TT_defaultNEWT203
2.5 =
r =
[ A
[ .
7 I S R S SR o
I —
o o
: L=}
R o R R b + """""" v
P ol
OB ter b de
«of °
1.05F §
1
0953 3
n
A
R 2
........ CPURE SO B
: v
S| S R TR
: +*# """""""
o
T
""""" o

————

10 1 10 102 pw3
T

S SRR 1| S

fc] | A E. ...........................

Pl SRR .- -------- aob

_1 ......... Froeeeeend l= ...........
Fo T

iy

[0 SRERERES B ol

. : : :

10" 1 10 10? p103




	Contents
	Page 1


